garden
treasures’

@ M6 x 32 Bolt (x 6) & M6 Washer (x 6)
Perno M6 x 32 (x 6) y arandela M6 (x 6)

T4

@ M6 Washer (x 12)/Arandela M6 (x 12)

i =)

@ Screw (x 4)/Tornillo (x 4)
€ e € >
€ > € >

@ 1-800-643-0067

~

ITEM/ARTICULO #1126654
DINING TABLE

MESA DE COMEDOR
MODEL/MODELO #FTS00748C

(M M6 x 53 Bolt (x 6) & M6 Washer (x 6)
Perno M6 x 53 (x 6) y arandela M6 (x 6)

@ Nut (x 12)Tuerca (x 12)

@ Wrench (x 1)/Llave (x 1)

Printed in China

Impreso en China

garden
treasures'

@ M6 x 32 Bolt (x 6) & M6 Washer (x 6)
Perno M6 x 32 (x 6) y arandela M6 (x 6)

@ M6 Washer (x 12)/Arandela M6 (x 12)

=

@ Allen Wrench (x 1)/Llave Allen (x 1)

=

@ screw (x 4)Tornillo (x 4)

e

@ 1-800-643-0067

\

~

ITEM/ARTICULO #1126654
DINING TABLE

MESA DE COMEDOR
MODEL/MODELO #FTS00748C

M6 x 53 Bolt (x 6) & M6 Washer (x 6)
Perno M6 x 53 (x 6) y arandela M6 (x 6)

D Nut (x 12)Tuerca (x 12)

=

@ Wrench (x 1)/Llave (x 1)

Printed in China
Impreso en China




